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VAME:

Using the graph below, compare the kinematic behavior of the two objects.
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Comparison: isA>B,A<B,orA=B, How do you know?

a. Displacementat 3 s Az@

b. Average velocity from0-3s H* ‘6

c. Instantaneous velocity at 3 s Q7A 0 r ,q <B

Consider the position vs. time graph below for cyclists A and B.
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a. Do m;\cyclis%s'siart We point? How do you know? If not, which is ahead?
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b. Att=7Ts, \_yhich cyclist js ahead? How do you know?

W (S a N

c. Which cyclist is travelling faster at t = 3s? How do you know?
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d. Arc their velocities equal at any tune? How do you know? R}
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2. Consider the new position vs. time graph below for cychists A and B.
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a. How doces the motion of the cyclist A in the new graph compare to that of A in the previous )
graph from page one? !,O clisk i Wk WI()VW:\? '&TYV\ !Wﬂa ng)(J @16‘
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b. How does the motion of cyclist B in the new graph compare to that of B in the previous
graph?

o difference

c. Which cyclist has the greater speed? How do you know?
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d. Describe what is happening at the intersection of lines A and B,
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¢. Which cyclist traveled a greater distance during the first 5 seconds? How do you know?
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